
Adding with 8

Imagine that 8 wants to be a 10!
It takes two from the other number
(from 3). So, 8 becomes 10, and 
only 1 is left over.

+ = =

8 + 3 = 10 + 1 = 11

8 wants to be a 10! So, it takes
two from the other number 
(from 5). So, 8 becomes 10, 
and 3 are left over.

+ = =

8 + 5 = 10 + 3 = 13

Use the list on the right to practice. Don't write the answers there.
Just point to different problems and say the answer aloud.

1. Add. First, circle the ten. 

a. 8 + 5

10 + 3 = ____

b.  8 + 4

10 + ____ = ____

c.  8 + ____

10 + ____ = ____

d.  8 + ____ =

10 + ____ = ____

e.  8 + ____ = 

10 + ____ = ____

f.  8 + ____ = 

10 + ____ = ____

8 + 1 = 

8 + 2 = 

8 + 3 = 

8 + 4 = 

8 + 5 = 

8 + 6 = 

8 + 7 = 

8 + 8 = 

8 + 9 = 

2. It is good to memorize the doubles, also. Fill in. 

2 + 2 = _____

3 + 3 = _____

4 + 4 = _____

5 + 5 = _____

6 + 6 = _____

7 + 7 = _____

8 + 8 = _____

9 + 9 = _____

10 + 10 = _____
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